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GUESS PAPER - 2010
Class - XII
SUBJECT - MATHEMATICS
Time: 3 hrs. 







                 FM-100

General Instructions

1. All questions are compulsory.

2. The question paper consist of 29 questions divided into three sections A, B and C. Section A comprises of 10 questions of one mark each, section B comprises of 12 questions of four marks each and section C comprises of 07 questions of six marks each.

3. All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

4. There is no overall choice. However, internal choice has been provided in 04 questions of four marks each and 02 questions of six mark each. You have to attempt only one of the alternatives in all such questions.

5. Use of calculators is not permitted. You may ask for logarithmic tables, if required.
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SECTION - A
1. What is the derivative of xx w.r.t. x?

2. Find the value of 
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3  What is the probability that a leap year selected at random will contain 53   Sundays?

4. Draw the rough sketch of the curve y = x3
5. Find ( if (2,(3), ((,(1), and (0,4) are collinear using determinant
6. Evaluate: 
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7. Write the cofactors of the elements of the third row of the determinant 
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8 Determine the order and degree of the differential equation   
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9. Find 
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10. The Cartesian equations of a line are 
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  Find its direction cosines

SECTION – B

11. Let A = N ( N and * be the binary operation on A defined by (a, b)*(c, d) = (a + c, b + d). Show that * is commutative and associative. Find identity element for * on A, if any

OR

Let A = {-1, 0, 1, 2}, B = {-4, -2, 0, 2} and f,g : A    B be functions defined by  f(x) = x2 – x, x ( A and g(x) = 2
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12. Express 
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13. Prove that 
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14. If 
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15. Verify the hypothesis and conclusion of Lagrange’s MVT for the function 
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16. Evaluate: 
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17. Evaluate: 
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18. Solve the following differential equation: 
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      Form the differential equation by eliminating a and b from the equation   
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19. If 
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20. Find the distance of the point (1, -2, 3) from the plane x – y + z = 5 measured parallel to the line 
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21. Two cards are drawn successively with replacement from a well shuffled pack of 52 cards. Find the probability distribution of the number of aces

22. Prove that the volume of the largest cone that can be inscribed in a sphere of radius R is 8/27 of the volume of the sphere

SECTION – C
23. If 
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24. Find the area of smaller region bounded by the ellipse 
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25. Evaluate 
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26. A variable plane which remains at a constant distance 3P from the origin cuts the coordinate axes at A, B, C. Show that the locus of the centroid of the triangle (ABC is 
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27. For any two vectors a and b, show that: 
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28. A doctor is to visit a patient. From the past experience, it is known that the probabilities that he will come by train, bus, scooter or by any other means of transport are respectively 3/10, 1/5, 1/10 and 2/5. The probability that he will be late are ¼, 1/3 and 1/12, if the comes by train, bus and scooter respectively, but if he comes by any other means of transport, then he will not be late. When he arrives, he is late. What is the probability that he comes by train?

29. A dietician wishes to mix together two kinds of food X and Y in such a way that the mixture contains at least 10 units of vitamin A, 12 units of vitamin B and 8 units of vitamin C. The Vitamin contents of one Kg food is given below 

	Food
	Vitamin A
	Vitamin B
	Vitamin C

	X
	1
	2
	3

	Y
	2
	2
	1


One Kg of food X costs Rs. 16 and one Kg of food Y costs Rs. 20. Find the least cost of the mixture which will produce the required diet.
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